IRFET HTEXRFEE SF4FEEZHRNER
3= mn o= £ (M) % % B =
R&.5.6  |5/6 AXEYEMR 8,640 |BEE
R&.5.19  [5/19 ZRELBREAS #LER 21,600 |ERILBIMEAL
RA.5.20 [5/20 HEELBREAS & 10,000 |EMILSEREAS
RA&.5.24 [5/24 &7 CABBASERBS MEER 4,840 |5 CEHBAS
R&.5.24  |5/24 k% AHEAL 50EEMS 10,000 |&%CBBBAS
RA.5.24  |5/24 —ORBHERBETE & 4,410 |BBSH AEBEE
R4.6.15 6/15 F# 5,000 |EF
RE.T.T  |1/7 dbiEE ERHTEE @LER 10,120 [BLKLI K1Y —L
RA.8.31  [8/31 HHR (B 4t 4,910 [BKIWKY—L4
RE.9.9  |9/9 HIEBMETSEEREIHESR 5,000 |BBEESALEEEAEES
RE10.7  [10/7 BHBBMEAL [HF4FHRSEBROEL S8 9,110 |ERBREAS
R4.10.24 |10/24 FH/ BEIXaXaxXaA T RAEEER 21,600 (XK1 —L
R4.11.18 |11/18 FH 5 000 |¥EE
R4.11.22 |11/22 RREREAE [SHAFERELBHOEN] BEER 23,110 [BXl K1) —L
RA.11.24 |11/24 SUBEIR 10,000 |2HE
R4.11.25 [11/25 sumineR (£A) 10,000 |&ALH ZABA
R4.11.30 |11/30 FHt 5,000 |¥EE
R&12.7  [12/7 H24EK - BHAHEED Lo —LEBAS in I MR 14, 900 ﬂgxggf’;g%g:/ 7=
RS.1.13 [1/13 & CABHMAS MLER 4,840 |HREH KEBE
R.1.13 |1/13 £ CAHHAL 2 5.000 |&% CEBHBAS
R5.1.14 1/14 FH 5000 |¥EE
RS.1.20  |1/20 BEAEDBIZSNTOHEXE BIK 3,000 |BEEBENMHESELELS
RS.2.1  [2/1 BEHEEISEOBERLTHRE 28 8,000 [BEMEFISEAS
RG.2.23  |2/23 B 10,000 |%E%
R5.2.27 |2/27 HEARHEE #WLER 2,800 | < HESS
RS.3.17  [3/17 Mminis 10,000 |2HE
R5.3.17 3/171 BH 5,000 |®EE
&5 236, 880




